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1. HiBR ECOENNMEEIL g = 9.8 m/s?2 THD. HER ETOHMEE THEEIZ DOV TIROBWIZEZ LI\,

(a) HDHE ¢ = 3.0 x 108 m/s 2R 5 DI HEH.

(b) ZD & EOFE FHEEEIM kmA>. (H7RAIZHE EEOHIERIL 4.5 x 10° km TH 5.)

2. KIGRECTOENIMEEIL g =274 %x 10> m/s? TH 5. KBBRETOHMHE FOLGEILE S M.

(a) HDHE c = 3.0 x 108 m/s 2B R % DT HED.

(b) ZD & & D& NEHHEZAT kmd>.
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1. Integrate the following functions with respect to x.

(a) /i dx

1
(b) / dx, where a is a constant.
r—a

2. MA=BOrEA=| |Ths. £EL, hIZARNKTHS.

3. P& LI DOBGEA 2(t) = 9.8+ 9.8¢ 1 —9.8 DL &, IRDEZEKRDIRI .

. d
(a) ﬁév:d—j:

(b) B o = ‘C%’ -



